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Answer ALL questxons
PARTA—(IO x 2=20 muks) b

. 1. Arnve a formula to ﬁnd ‘the valué of J_ (N > 0) usmg Newton-Raphson
method. . _
2. . Write the proeedure mvolved in Gauss Jordan elimination- -method.
- 3 . COR
: .3. Show that 4x (—] =
4. What are the advantages of cubic splme ﬁttmg"
.- 5.  What are the errors in’ ’I‘rapezoxdal and Simpson’s ruIes of numerical mi:eg;tatlon9

6, - State three point Gaussian quadrature formula. -
1. State the advantages of RK—method over ’I‘aylor senes method

8.  Using Euler’s method find y(o.z) from % =x+y,0)= 1, with h = 0.2.

9.  Write the finite difference approximations of y;(x) and y"(x).

10. State standard five point formula.
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18.
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(a)

0 (indegrees): 31° 32> 83 34°
tan@ : 0.6008 0.6249 9,6494 0.6746
* ; 22 . '
& Evaluate [ -2 with & =02 slong x-direction and k = 0.25-
g L d
along y-direttion. ©(8)
Or ' '

PART B — (6 x 16 = 80 marke)

() Solye tho nqm\liou xlogye & = 1.2 using Nowton's mothod. 8)
(i)  Solve the equations using Gausa-Seidal iterative method '
dx 4+ 2y+2wld,
x40y -2 =10and

x4 y+ 8z =20, ' . N ®

Or \ ’

()  TFind tho iwerse of the follawing matrix Gaugs Jordan mothod :

2 2 6 S Coe ;
12 6 -6|l. , ®

4 -8 -8 ' ' b '

‘ 5 0 1 , _
(i) Find all tho cigen values of A = [0 — 2.0 [ using power method. (8)

¢ {1 o & :

@) Tita Lagmhgq polynomial to the data : \

‘ x::1.2.8 6 .

¥:100 1726 124 .

. and hence find y when x =86. = o (8)
). From the following data, find 6 at x =43 and = 84

x: 40° 50 60 70 '80 90

0: 184 204 226 250 276 304

Also express 6 intgrins of x.- i 8)
.0r T :

Q) ﬁsing Newton’s diviagd difference for:ﬁixlh find /1 (3) from the data : (8)

x:v. 01 2 45 ° 4
o fx): 1 14 165 6
(ii) Estimate sin 38° from the data given below : . (8
. x3 0 -10° . 20 _30" 40° L
sinx: 0 0.17365 034202 0.5 0.64279

()  Find the value.of sec31" using the following data : ®
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si)/ Evaluate I e dx using three point Gaussian quadrature formula. (8)

(i)

(i)

@

(@)’

@

()

(i)

Uﬁmg Romberg'a method evnluate I-r-‘—" oorrect to three demmal

* places. . : -' @

@ Salve Y=x+y y(O) 1 by Taylore senes method. Fmd the values .

0fyatx=01andx=02 : ’ o )

Given® —l= (T +3) y(l) 1,1 1) 1.233, y(l 2) 1,648,

- oL8)=1L 979 evaluate ¥(1.4) by Adam s-Bashforth méthod. (8

Or’

~

. dy yl - I’ . g,
o @y _J "= with n0)= 1
Using R K method of fodrth order solv T y’ e with )

at x =0.2. ' ®
Using’ Mllnesmethod ﬁnd y(4 4) given 6::y‘+y’ 2=0, ¥4)=1,
¥{4.1) = 1.0049, 5{(4.2) = 1.0097, y(4 8)= 10143 : (8)
Solve y" y=0 with y(O) Oy(I) 1 uemg finite dﬁerenoe_
" method with b = 02 - ) )] >
Solve: y,, yn “upto t=0. with-a spacmg of 0.1 subject to
y(0,8)=0= y(l,t) y,(x,o) Oandy(x,O) 10+x(1 x) L@
. Or- ‘ . %

Solve Uy, +Uy, = 0 for the followmg square mesh vnth boundary

condition as shown below Iterate until the maximum difference
between successive values at any grid point is less than 0.001. (8)

A ~2 ' B
. l LUy 'llz./ 2
‘ 2 1. ' u‘ . 1y 1 ’- 5
; 0 0
Gvena—{-i,/(o,z) 0= f(5 1), £(5.0) = 22 (25 - 22), find f in
~ the range taking h =1 and upto 5 seconds. : (8)
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